ER-1652

M. Com. (Third Semester) Examination,
Nov.-Dec. 2019

TAX PLANNING & MANAGEMENT

Paper : Second

Time Allowed : Three hours

Maximum Marks : 40
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farsrsir @ost 3 qrey fagr i w1 e !

Note - Attempt questions of all twe sections as
directed. Distribution of marks is given with
sections.

EHus-H
Section-A

i. &7 fbem A R0 APE &2 SEst favedd Sasd |
What do you mean by Tax Planning? Discuss
characterstics.

Iedr
Or

FT WYEHA UG &7 99 W ITaL FaEd |

Distinguish between tax evasion and tax avoidance.
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2. 3 @ FE & gy § w1 Fre gl Jeveg
fagall = wwzEd )
Discuss the important points for tax planning in respect
of income from salary.

HYUAT
Or

Wwﬁrﬁaﬂmmaﬁwaﬂ%%@m
% AW ¥Y WFA F 999 FY THER O wfen?

How can select a house for self residence to minimise
tax liability from house property income point of views?

I;. T H TH BH T4 W H T 90,00,000 1 FHE FH
¢ TE 10% Hhel oy S i T ogEieil # T 3
Ang wftataes w@ea T €1 wH &1 7T & Fuim
7 FrA fawen 999 F0 Tfeu—

() T 44 AD % 31T 8% SIHIA 1A % MR

L
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(bh) HTHFT T ﬁ%ﬁw{m I H Hd = HE g uH
3TFM 9T T 60,000 Afafram =37 =191 = M|

A firm of contracter complete works T 90.00,000 during
the vear and 10% gross profit. The partner are allowed
Rs 3 lac as remuneration which obiain should be choose

by the firm for assessment. https://www.ujjainstudy.com
{a) Asscssment uw/s 44 AD cestimatcd income 28%.

{b) Normal assessment in this situatio: the 1irm shail

spend T 60,000 to keep accounts and audit.

AT
Or

SRl Whid F1 =999 F@ G99 F e a6t g
9 Fod H W 9R aell WE a9 g |

[Discuss the main points regarding selection of the nature

of new business for tax planning point of view.

1. = A ot gfe | s e gl W 9| WA W
feoqoit fafaa
Write note on the rate of return on equity capital from
tax planning point of view.

Hegan
Or

a9 v 9T feuoi fafad

Write notes on bonus shares.

5, F e wd 1 gey o s Sifeg

Distinguish between tax planning and tax management.
HEqT
Or

F1 Y F T Fqsd |

State the scope of tax management.

GueE-§q

Section-B

(3 s 9gT)
(L.ong Answer Type Questions)
41 qiter Gvf & Il ST [ Weaw Hed 5 Hwl
T &1 Weg GIHT 800

Vote : Attempt all the five questions. Each question
carries 5 marks. Word limit 800.
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T S S 99 &1 T Auifae vd Afds =
S g HYA H UHHARY Ud s9F Hew™ il avid
FITsU |

“[ax planning is a legal and moral way of tax saving.”

|“xplain this statement and describe its importance.

374dn
Or

s & fafim &8 @ avla s

Describe various areas of tax planning.

Al ST S 9§ 2019-20 § Tk =R TUifya 5 9

€ ANRE 997 F T 35F wny A famey 2
ER-1652

(a) 39F TE TH HHMA B, 52 393 T 2,000 wiiar

fF03 W I3 T 21 3 AFE H 98 T F AR
& UgF X GHAT R | $9 HHM HT AT JeI
3 4 9 ¥ THEE ¥ wr N 9w Fefafad o
A — 1. HOHA T 5,000 2. A1 Wi T 2,000
3. 3\ fEr T 1,000 4. TR wiferm T T 3,000
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(b) 9% =R & fau T 1,500 wfaae W 310 9A
frtd 9T A Temar

FAEA W A HRA @A F AR G IGF BN
=ifew, afe =uRrR =1 Gfaq 3™ (A % @9f f
BrEFl) T 5,50,000 B

Mr. Ashok Jain wants to establish a business in the year
2019-20. He has two option for business house :

(a) He owns a house which is let out for ¥ 2,000 per
month. This house can be used for his business
purpose. Estimated value of the house is ¥ 4 Lac.
He spends following expenses in respect of the
house : (i) Repair ¥ 5,000 (ii) Insurance Premium
2,000 (iii) Ground Rent ¥ 1,000 and (iv) Municipal
taxes T 3,000.

~1 1le can take another house for business purpose at
the rent of T 1,500 per month.
<how which house should be used for his business is
.timated income of the business will be ¥ 5,50.000
~wcluding house expenses).
JFqaar
Or
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TTe Ty IS B AT IGFH HY R 3@ Frofg gy e & ofe o due A+ gfe & @l
s I (i) @€ 2019-20 ® SEafass AN 6 ARG €9d BT
B! qqaﬁﬁ

‘Make or Buy decision." Explain the procedure for taking

FT FARFER & w9 ° quayl dfsa fa a=mn e FAyuio

a9 2012 20 H HIEE #1397 @< Fafto gy 44 AE

decision., + aAiita etenal =fen @ st stfufyeay & g
FEUH § F<aa HEE =g

. T&h & 3T M F 919 Taad 2018-19 § 2 WRl.. A truck operator assesssee owns two heavy goods
vehicles (weight 15 tons) for 9 months 14 days, three

&R (a9 15 ) 9 W 14 &7, 3 weaw YR AR
( ) 9 W' f medium goods vehicles for 10 months 8 days and four

10 T 8 feA “\3 4 TEH MR 9 7 AR 23 A w1 light goods vehicles for 7 months 23 days during the
?Hﬁ W@ qa' ETJZI.‘Y ] aﬁﬁ m Hﬁ ™l %1 R m previous year 2018-19. He did not keep any account

for freight receipts and expenses cost of vehicles is ¥ 20

F1 @ 20 AE@ T 2N ‘ lakh.
Estimate his income from business u/s 44 AE of
qI Aufm 1961 #t Y 44 AFE & 3713 Income Tax Act, 1961. Following intimation for the
a financial year 2019-20 :
3T AR H ™ H HATHH amed ! fasig o (i) Number of vehicles and period will be unchanged.
2019-20 % aﬁ ﬁ f:rl:{ a]':l,'l:[ﬁ T T— (i) Collective from freight will not _increase.

(iii) Estimated profit shall be ¥ 6 lakh in the year 2019-

(i) A Ft GO @ty ¥ FE vfgd @ amy 20.

You are required to advise as a tax expert that the
ER-1652 PTO
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e frg wOE ® S T a4 ¥ Ak fafm

assessee should made the assessment w/s 44 AL or
normal provisional of Income Tax Act for the assessment T Y 1 T 20% © | SR HY I FHeT &
ar 2020-21.
ye: 35% Aa g e fFreed fifswy
Yl
Or
HACAS A1 THIHTT BT W Capital structure and three companies X. Y and Z Ltd.
=rif F g & WA W osEmE sfuftE F A are as under :
t AT Types of Capital X Litd. Y Ltd. 7 Ltd.
3 < 4
% + t < « . .
Mention the provision relating to set off a accumulated Equity share capital ~ 5,00,000  4,00,000 2.00.000
osses and unabsorbed expenses in case of amalgamation. 12% Debentures — 1,00,000 3,00,000

3,00,000 500,000 3 ,00,000

A wEEE X, Y w6 Z fa. #t §Sft demen s wwe

Explain where capital structure is best if rate of return

%_ . -

° ’ on investment is 20%. Give your conclusion assuming
b ST #T UER X f&a Yy f& 7 & that gross rate of Income Tax is 35%.
| roren

4 < L4
Or
T A g 500,000 4,00,000 2,00,000 oy Aifa wd siwerEl e W feoreft fafad
12% 01 A . = 1,00,00C 3,00,000 Write notes on dividend policy and inter company

divided.

5,00,000 5,00,000 5,00,000
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10. T FHAM &1 a9 | Fha qEms T 7,16,000 7
qﬁwﬁ%m%m%mﬁnﬁrf 46,000 T,
Siea |t WifaEn T 26,000 1 sWE 2019 ® =i
fadia ad & a3 ITW T W H H wAGT =T qfen
wd Hifea

gross remuneration from salary head of an
employer is rs. 716000 and interest on loan
taken for sell occupied house is rs.46000

life insurance premium is rs. 26000. calculate
the amount of tax deducted at source for the
current financial year 2019.

arerar
Or
s ogatan vk e fufer’! s o a3 B2 @' T$A

sonaii W fwen s @2 ¥ 0@ R fauio & EES
FEEBl % WE H1E IuE ¥ ?

What is best judgement assessment? In what circums-
tances can it be made? Are there any remedies open to

the assessee against such assessment?
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